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"'Bab
d bdall mvaded ten times before finally marching on Delhi.

%?S SECOND TERM SUMMATIVE ASSESMENT - 2024 -
- s " SOCIAL SCIENCE [TTTTTL]
Time : 2.00 hrs ) b : Marks : 60
g Chocse the correct answer. 5 X 1 =¥
1. Who was the revenue minister of Akbar?
&) Birbal . ‘b) Raja Bhawan Das
c) Raja Todarmal‘ | ' ~d) Raja Man Singh
2.  Who was the, teacher and guardlan of ShlvaJP -
~ a) Dadaji Kondadev . b) Kavi Kalash
c) Jijabai - : ~.d) Ramdas
3. Which cne of the following is renewable resource7
a) Gold o s b) Iron
" ¢) Petrol . | d) Solar energy
4 Wthh one of the following'is not a beach of India? : :
d) Goa - b) Cochin - . ©) Kovalam d) Miami
5. Why is it necessary for media to’ be lndependent? '
a) to earn money ~° b) to encourage company
c) to write balanced report d) none of these
II Fill in the blanks. | " 5.X1 =5
6. Vuayanagar emperors issued a large number of gold coins called ........ceenee P
7. - The tmperlal moment of the Marathas sadly ended at .ivverienienin 1761.
8. 'SUFUII falls is also called @s ....iviiivinnenninee s : :
oM tE s l. ., is the highest ]UdIC!aI organ of the sate
‘ 10, N e e have made the world smaller. and closer.
II1 Match the followmg 5X1==5
11. Akbar - - Leader of the majorify party
12. -Renewable Resource ' = Jahangir ‘
| Anamalai hills - e Films ' |
14. Chief Minister- - Wind energy °
15 proad cast media -~ ~Top slip
- Answer the followmg questlons True orfalse. =~ -  6X1=6 :
16. ur inherited Farghana, a small kingdom in central Asia. '

"HSS 7 Faps oybeiuics  PAGE - 1

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

18.

www.Padasalai.Net www.Trb Tnpsc.Com

Consider the following statements. Tick the appropriate answer.
Assertion : Print media has been referred to as peoples university.
Reason : They perform the role of publlc lnformer, educate custodlan of

public interest.

~a) Ais correct and R is the correct explanation of A.
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b) A is correct and R is not-the correct explanation of A '
c) Ais wrong and R s correct d) Both are wr'ong

Clrcle the odd one. :
Transport Attraction, Accommodation, Amenltles

Find out the wron_g pair.

a) Silk - China

b) Spices - Arabia

c) Precious stone - . Burma

d) Madurai vijayam - Ganlga'devi

GIVE REASON ;:
Water IS considered as a great source of energy

Answer any seven of the following questions. 7X2 =14
The four dynasties of Vijayanagara Klngdom with reference to promlnent

rulers of each dynasty. if

Write a note on Mansabdari system.

The impact of Bhakti movement on Marathas \
Name the types of coal based on carbon content.

'DIStIﬂgUISh between : Attraction and Access1b|l|ty
" Name any. five hill stations in India?

Who are called opposltlons7
What is media?

Answer the following in detail. | ol W gy 5 =15,

" a) Discuss the career and achlevements of Knshna Devaraya (OR)

b) Estimate Akbar as a patron of Iearnlng

a) Explain the dlfferent types of renewable resources. (OR)
b) Describe the environment impact of tourism?

a) Describe the powers of the Governor. (OR) ‘

b) What are the advantages of media?

On the outline map of India mark the followmg places.
Talikata, Agra, Surat, Poona, Hyderabad

On the outline map of the world mark the followmg places:

Australia,  China, Russia, India,  Saudi Arabia.
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